CONTRACT NO. 8693

DATE: 12/14/23	S&L Underground, Inc.		Parisi Construction,	R. G. Huston Co., Inc.	Integrity Grading & Excavating,	Speedway Sand &	
No. or	O	Duite	F. damaian	LLC		Inc.	Gravel, Inc.
Item Section B: Proposal Page	Quantity	Price	Extension	Price	Price	Price	Price
10701 - TRAFFIC CONTROL - L.S.	1.00	\$18,000.00	\$18,000.00	\$17,300.00	\$21,485.00	\$17,000.00	\$18,800.00
10701 - TRAFFIC CONTROL - L.S. 10721 - TRAFFIC CONTROL SIGNS - PORTABLE	1.00	\$10,000.00	\$ 10,000.00	φ17,300.00	Φ21,400.00	φ17,000.00	\$10,000.00
CHANGEABLE MESSAGE - DAYS	130.00	\$42.25	\$5,492.50	\$51.00	\$50.00	\$49.95	\$42.25
10801 - ROOT CUTTING - CURB & GUTTER - L.F.	100.00	\$2.30	\$230.00	\$16.50	\$1.00	\$100.00	\$0.01
10912 - MOBILIZATION - L.S.	1.00	\$250,344.00		\$408,000.00	\$102,156.40	\$162,000.00	\$304,100.00
20101 - EXCAVATION CUT - C.Y.	17400.00	\$22.70	\$394,980.00	\$26.50	\$27.50	\$27.55	\$29.10
20130 - UNDERDRAIN - L.F.	200.00	\$15.00	\$3,000.00	\$19.50	\$18.25	\$24.36	\$20.60
20140-GEOTEXTILE FABRIC TYPE SAS (NON-WOVEN)-S.Y.	30500.00	\$1.00	\$30,500.00	\$0.25	\$1.30	\$1.04	\$0.95
20204 - SELECT FILL - TON	100.00	\$15.20	\$1,520.00	\$5.00	\$19.00	\$20.89	\$15.15
20219 - BREAKER RUN - TON	5100.00	\$16.10	\$82,110.00	\$10.00	\$18.00	\$21.25	\$22.50
20221 - TOPSOIL - S.Y.	8600.00	\$6.00	\$51,600.00	\$8.00	\$10.70	\$3.48	\$10.95
		******	+,	******	*	*****	4 10100
20303 - SAWCUT BITUMINOUS PAVEMENT, FULL DEPTH - L.F.	600.00	\$3.00	\$1,800.00	\$3.10	\$1.95	\$1.40	\$2.20
20322 - REMOVE CONCRETE CURB & GUTTER - L.F.	4300.00	\$3.10	\$13,330.00	\$5.80	\$6.15	\$7.17	\$5.55
20323 - REMOVE CONCRETE SIDEWALK & DRIVE - S.F.	14800.00	\$2.00	\$29,600.00	\$2.00	\$3.00	\$0.62	\$3.21
20401 - CLEARING - I.D.	30.00	\$55.00	\$1,650.00	\$56.00	\$50.00	\$55.00	\$55.00
20406 - GRUBBING - I.D.	30.00	\$55.00	\$1,650.00	\$51.00	\$50.00	\$50.00	\$50.00
20701 - TERRACE SEEDING - S.Y.	8600.00	\$1.00	\$8,600.00	\$2.20	\$1.40	\$1.70	\$1.40
20709 - SHORTGRASS PRAIRIE SEEDING - S.Y.	3800.00	\$3.00	\$11,400.00	\$2.80	\$3.00	\$2.20	\$3.00
21063 - EROSION MATTING, CLASS I, TYPE A - ORGANIC -							
S.Y.	12300.00	\$2.80	\$34,440.00	\$2.20	\$2.80	\$2.25	\$2.80
30201 - TYPE 'A' CONCRETE CURB & GUTTER - L.F.	4300.00	\$32.73	\$140,739.00	\$30.00	\$32.73	\$32.40	\$46.20
30205 - TYPE 'E' CONCRETE CURB & GUTTER - L.F.	1500.00	\$32.73	\$49,095.00	\$30.00	\$32.73	\$32.40	\$44.70
30207 - TYPE 'H' CONCRETE CURB & GUTTER - L.F.	100.00	\$42.83	\$4,283.00	\$45.00	\$42.83	\$42.40	\$44.60
30203 - TYPE 'X' CONCRETE CURB & GUTTER - L.F.	300.00	\$42.83	\$12,849.00	\$30.00	\$42.83	\$42.40	\$51.20
30208 - HAND FORMED CONCRETE CURB & GUTTER - L.F.	200.00	\$42.83	\$8,566.00	\$45.00	\$42.83	\$42.40	\$51.20
30301 - 5-INCH CONCRETE SIDEWALK - S.F.	6800.00	\$8.76	\$59,568.00	\$6.80	\$9.10	\$8.30	\$8.25
30302 - 7-INCH CONCRETE SIDEWALK AND DRIVE - S.F.	9400.00	\$9.00	\$84,600.00	\$8.90	\$9.70	\$8.90	\$9.55
30311 - CONCRETE MOUNTABLE MEDIAN ISLAND NOSE - S.F.	950.10	645 45	¢44.204.00	¢44.50	¢45.45	¢45.00	¢46.00
30340 - CURB RAMP DETECTABLE WARNING FIELD - S.F.	1000.00	\$15.15 \$45.45	\$14,394.02 \$45,450.00	\$11.50 \$49.00	\$15.15 \$45.45	\$15.00 \$45.00	\$16.00 \$51.00
40101 - CRUSHED AGGREGATE BASE COURSE GRADATION	1000.00	φ 4 υ.4υ	φ 4 0, 4 00.00	φ 4 8.00	φ 4 0.40	φ40.00	φυ1.00
NO. 1 - TON	8600.00	\$15.30	\$131,580.00	\$16.00	\$25.00	\$24.57	\$23.00
110. 1 1011	0000.00	ψ10.00	ψ 10 1,000.00	ψ10.00	Ψ20.00	Ψ24.01	Ψ20.00

CONTRACT NO. 8693

DATE: 12/14/23						Integrity	
DATE: 12/14/23		S&L Underground, Inc.		Parisi Construction, LLC	R. G. Huston Co., Inc.	Grading & Excavating, Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
40102 - CRUSHED AGGREGATE BASE COURSE GRADATION							
NO. 2 - TON	13600.00	\$15.30	\$208,080.00	\$16.00	\$25.00	\$26.75	\$23.00
40203 - HMA PAVEMENT 3 MT 58-28 S - TON	4300.00	\$68.69	\$295,367.00	\$69.00	\$68.69	\$68.00	\$68.00
40205 - HMA PAVEMENT 4 MT 58-28 S - TON	2900.00	\$74.49	\$216,021.00	\$75.00	\$74.49	\$73.75	\$73.75
40218 - TACK COAT - GAL	1670.00	\$2.02	\$3,373.40	\$2.00	\$2.02	\$2.00	\$2.00
40231 - ASPHALT DRIVE AND TERRACE - S.F.	50.00	\$13.00	\$650.00	\$3.10	\$14.90	\$3.00	\$3.00
40301 - FULL WIDTH GRINDING - S.Y.	500.00	\$9.09	\$4,545.00	\$9.20	\$9.09	\$9.00	\$9.00
60800 - PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH -			•				
L.F L.F.	3000.00	\$1.16	\$3,480.00	\$1.20	\$1.16	\$1.16	\$1.16
60801 - PAVEMENT MARKING EPOXY, 4-INCH - L.F L.F.	7000.00	\$0.58	\$4,060.00	\$0.60	\$0.58	\$0.58	\$0.58
60802 - PAVEMENT MARKING EPOXY,		•	. ,	·	·	·	•
LINE, 6-INCH - L.F L.F.	6500.00	\$0.78	\$5,070.00	\$0.80	\$0.78	\$0.78	\$0.78
		*****	40,000	******	*****	*****	70
60803 - PAVEMENT MARKING EPOXY, LINE, 8-INCH - L.F L.F.	500.00	\$0.98	\$490.00	\$1.00	\$0.98	\$0.98	\$0.98
60809 - PAVEMENT MARKING EPOXY, DIAGONAL LINE, 6-		40.00	*	******	******	*****	70.00
INCH-L.F L.F.	500.00	\$6.50	\$3,250.00	\$6.60	\$6.50	\$6.50	\$6.50
60812 - PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH -		******	+ -,=	******	******	*****	70.00
L.F L.F.	2000.00	\$6.50	\$13,000.00	\$6.60	\$6.50	\$6.50	\$6.50
60814 - PAVEMENT MARKING EPOXY, CROSSWALK, 12-INCH -		ψ0.00	ψ10,000.00	ψ0.00	Ψ0.00	ψο.σσ	ψ0.00
L.F L.F.	500.00	\$10.75	\$5,375.00	\$11.00	\$10.75	\$10.75	\$10.75
60816 - PAVEMENT MARKING EPOXY,	300.00	Ψ10.73	ψ0,070.00	Ψ11.00	ψ10.70	ψ10.73	Ψ10.70
CONTINENTAL CROSSWALK, 18-INCH - L.F L.F.	900.00	\$16.10	\$14,490.00	\$16.50	\$16.10	\$16.10	\$16.10
60818 - PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH -	300.00	ψ10.10	ψ1+,+50.00	ψ10.00	ψ10.10	ψ10.10	ψ10.10
L.F L.F.	500.00	\$19.80	\$9,900.00	\$20.25	\$19.80	\$19.80	\$19.80
60820 - PAVEMENT MARKING EPOXY,	300.00	Ψ19.00	ψ9,900.00	Ψ20.23	ψ19.00	Ψ13.00	Ψ19.00
MEDIAN NOSE - EACH - EACH	10.00	\$165.00	\$1,650.00	\$170.00	\$165.00	\$165.00	\$165.00
60822 - PAVEMENT MARKING EPOXY, SYMBOL, BIKE	10.00	φ105.00	φ1,050.00	\$170.00	φ105.00	φ105.00	φ103.00
SHARROW- EACH - EACH	8.00	\$325.00	\$2,600.00	\$330.00	\$325.00	\$325.00	\$325.00
60823 - PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE-	0.00	\$325.00	\$2,000.00	φ330.00	φ323.00	φ323.00	φ323.00
EACH - EACH	40.00	#250.00	¢40,000,00	<u></u>	ድጋርር በር	<u></u>	ድጋርብ ብብ
	40.00	\$250.00	\$10,000.00	\$250.00	\$250.00	\$250.00	\$250.00
60829 - PAVEMENT MARKING EPOXY,	0.00	# 005.00	#4 500 00	#0 7 0.00	# 005.00	# 005.00	# 005.00
SYMBOL, LEFT ARROW - EACH - EACH	6.00	\$265.00	\$1,590.00	\$270.00	\$265.00	\$265.00	\$265.00
60830 - PAVEMENT MARKING EPOXY,	4.00	#005.00	#4.000.00	#070.00	#005.00	#005.00	#005.00
SYMBOL, RIGHT ARROW - EACH - EACH	4.00	\$265.00	\$1,060.00	\$270.00	\$265.00	\$265.00	\$265.00
60832 - PAVEMENT MARKING EPOXY, SYMBOL, STRAIGHT &	4.00	4000.00	#4 500.00	4000.00	# 000 00	4000.00	# 222.22
LEFT ARROW - EACH - EACH	4.00	\$380.00	\$1,520.00	\$390.00	\$380.00	\$380.00	\$380.00

CONTRACT NO. 8693

DATE: 12/14/23						Integrity	
DATE: 12/14/23		S&L Underground, Inc.		Parisi Construction, LLC	R. G. Huston Co., Inc.	Grading & Excavating, Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
60833 - PAVEMENT MARKING EPOXY, SYMBOL, STRAIGHT &							
RIGHT ARROW EACH - EACH	4.00	\$380.00	\$1,520.00	\$390.00	\$380.00	\$380.00	\$380.00
60834 - PAVEMENT MARKING EPOXY,							
WORD, ONLY - EACH - EACH	5.00	\$425.00	\$2,125.00	\$430.00	\$425.00	\$425.00	\$425.00
60835 - PAVEMENT MARKING EPOXY,							
WORD, BUS - EACH - EACH	5.00	\$410.00	\$2,050.00	\$420.00	\$410.00	\$410.00	\$410.00
60894 - SKID/SLIP RESISTANT							
PREFORMED THERMOPLASTIC							
PAVEMENT MARKING, BIKE LANE							
GREEN - S.F - S.F.	1800.00	\$14.75	\$26,550.00	\$15.00	\$14.75	\$14.75	\$14.75
60896 - SKID/SLIP RESISTANT							
PREFORMED THERMOPLASTIC							
PAVEMENT MARKING, 6-INCH WHITE							
RETROREFLECTIVE LINE - L.F L.F.	500.00	\$6.85	\$3,425.00	\$7.00	\$6.85	\$6.85	\$6.85
60940 - TEMPORARY PAVEMENT MARKING TAPE,		*	****		40 =0	*	*
REMOVABLE, REFLECTIVE, LINE, 4-INCH - L.F.	100.00	\$1.00	\$100.00	\$1.00	\$2.50	\$1.00	\$1.00
60941 - TEMPORARY PAVEMENT MARKING TAPE,		**	****	40.00	4-00	**	40.00
REMOVABLE, REFLECTIVE, DOUBLE LINE, 4-INCH - L.F.	100.00	\$2.00	\$200.00	\$2.00	\$5.00	\$2.00	\$2.00
60975 - TEMPORARY PAVEMENT MARKING TAPE,		**	****	40.40	4 00	**	**
REMOVABLE, LINE, 24-INCH - L.F.	30.00	\$6.00	\$180.00	\$6.10	\$15.00	\$6.00	\$6.00
90001 - TEMPORARY CROSSWALK ACCESS - EACH	8.00	\$1,920.00	\$15,360.00	\$1,000.00	\$1,910.03	\$1,000.00	\$987.00
90002 - 12-INCH CONCRETE MEDIAN - S.F.	8800.00	\$14.04	\$123,552.00	\$10.00	\$14.04	\$13.90	\$21.50
90003 - 7-INCH CONCRETE MEDIAN - S.F.	4900.00	\$8.99	\$44,051.00	\$6.80	\$8.99	\$8.90	\$18.85
90004 - BIKE LANE - 3-INCH ASPHALT OR 7-INCH CONCRETE -		#0.50	# == 000 00	40.00	A4 07	44.05	40.00
S.F.	22000.00	\$2.50	\$55,000.00	\$2.30	\$1.87	\$1.85	\$2.20
90005 - REMOVE AND SALVAGE PAVERS - EACH	1.00	\$3,200.00	\$3,200.00	\$360.00	\$3,200.00	\$4,098.06	\$567.00
90006 - SIDEWALK CURB - L.F.	120.00	\$42.42	\$5,090.40	\$45.00	\$42.42	\$32.40	\$45.00
90009 - LANE "YIELD TO PEDS" & YIELD LINE - EACH	1.00	\$525.00	\$525.00	\$530.00	\$525.00	\$525.00	\$525.00
20217 - CLEAR STONE - TON	2300.00	\$21.00	\$48,300.00	\$12.00	\$10.50	\$25.28	\$12.05
21002 - EROSION CONTROL INSPECTION - EACH	6.00	\$500.00	\$3,000.00	\$330.00	\$500.00	\$500.00	\$500.00
21011 - CONSTRUCTION ENTRANCE - EACH	12.00	\$360.32	\$4,323.84	\$150.00	\$640.00	\$900.00	\$300.00
21012 - STREET CONSTRUCTION STONE BERM - EACH	1.00	\$432.00	\$432.00	\$330.00	\$600.00	\$972.58	\$300.00
21013 - STREET SWEEPING - LUMP SUM	2.00	\$5,000.00	\$10,000.00	\$500.00	\$6,800.00	\$64,249.93	\$4,500.00
21014 - CLEAR STONE BERM (DITCH CHECK) - EACH	44.00	\$200.00	\$8,800.00	\$330.00	\$260.00	\$2,665.59	\$234.00
21018 - SILT SOCK (8 INCH) - PROVIDE, INSTALL, & MAINTAIN	200.00	¢7.00	#0.400.00	C 40	¢7.00	#40.00	¢7.00
(UNDISTRIBUTED) - L.F.	300.00	\$7.00	\$2,100.00	\$6.10	\$7.00	\$10.00	\$7.00

CONTRACT NO. 8693

DATE: 12/14/23			rground, Inc.	Parisi Construction, LLC	R. G. Huston Co., Inc.	Integrity Grading & Excavating, Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
21019 - SILT SOCK (8 INCH) - REMOVE & RESTORE (UNDISTRIBUTED) - L.F. 21095 - INLET PROTECTION TYPE B (UNDISTRIBUTED) -	300.00	\$2.00	\$600.00	\$2.00	\$2.00	\$10.00	\$2.00
EACH 21031 - INLET PROTECTION TYPE C (UNDISTRIBUTED) -	7.00	\$100.00	\$700.00	\$56.00	\$100.00	\$100.00	\$100.00
EACH 21049 - INLET PROTECTION, RIGID FRAME - PROVIDE AND	30.00	\$160.00	\$4,800.00	\$56.00	\$160.00	\$100.00	\$160.00
INSTALL - EACH	69.00	\$350.00	\$24,150.00	\$200.00	\$350.00	\$200.00	\$350.00
21050 - INLET PROTECTION, RIGID FRAME - MAINTAIN - EACH	138.00	\$100.00	\$13,800.00	\$100.00	\$100.00	\$10.00	\$100.00
21051 - INLET PROTECTION, RIGID FRAME - REMOVE - EACH 50401 - 12 INCH TYPE I RCP STORM SEWER PIPE - L.F. 50432 - 12 INCH TYPE II PAVEMENT STORM SEWER PIPE -	69.00 1155.00	\$50.00 \$92.60	\$3,450.00 \$106,953.00	\$100.00 \$91.00	\$50.00 \$106.00	\$100.00 \$120.58	\$50.00 \$224.65
L.F L.F.	10.00	\$92.60	\$926.00	\$91.00	\$106.00	\$187.47	\$224.65
50741 - TYPE H INLET - EACH	44.00	\$2,923.00	\$128,612.00	\$3,500.00	\$2,930.00	\$8,250.00	\$4,847.00
50762 - SADDLED INLET TYPE II - EACH 10912 - MOBILIZATION FOR STORM SEWER INSTALLATION -	1.00	\$2,893.00	\$2,893.00	\$4,700.00	\$3,020.00	\$5,676.96	\$2,020.00
L.S. 20311 - REMOVE SEWER ACCESS STRUCTURE (STORM) -	1.00	\$10,000.00	\$10,000.00	\$75,000.00	\$10,000.00	\$25,000.00	\$51,202.00
EACH	12.00	\$915.00	\$10,980.00	\$680.00	\$864.00	\$1,227.62	\$678.00
20313 - REMOVE INLET - EACH	13.00	\$630.00	\$8,190.00	\$680.00	\$805.00	\$1,237.34	\$654.00
20314 - REMOVE PIPE - L.F.	312.00	\$35.00	\$10,920.00	\$10.00	\$26.00	\$43.25	\$34.00
20336 - PIPE PLUG (STORM) (UNDISTRIBUTED) - EACH	17.00	\$300.00	\$5,100.00	\$100.00	\$865.00	\$1,184.32	\$250.00
50102 - RCBC ROOF REPAIR, TYPE II - EACH	1.00	\$4,350.00	\$4,350.00	\$5,200.00	\$10,000.00	\$5,770.00	\$4,350.00
50211 - SELECT BACKFILL FOR STORM SEWER - T.F. 50390 - SEWER ELECTRONIC MARKERS (STORM &	2686.00	\$0.01	\$26.86	\$0.01	\$0.01	\$0.01	\$0.01
SANITARY)(UNDISTRIBUTED) - EACH	20.00	\$92.70	\$1,854.00	\$41.00	\$40.00	\$197.83	\$32.00
50402 - 15 INCH TYPE I RCP STORM SEWER PIPE - L.F.	532.00	\$100.00	\$53,200.00	\$84.00	\$108.00	\$138.15	\$230.90
50403 - 18 INCH TYPE I RCP STORM SEWER PIPE - L.F. 50433 - 15 INCH TYPE II PAVEMENT STORM SEWER PIPE -	765.00	\$113.00	\$86,445.00	\$92.00	\$110.00	\$124.51	\$233.05
L.F. 50434 - 18 INCH TYPE II PAVEMENT STORM SEWER PIPE -	10.50	\$100.45	\$1,054.73	\$92.00	\$110.00	\$187.63	\$230.90
L.F.	213.50	\$100.00	\$21,350.00	\$92.00	\$111.00	\$116.72	\$233.05
50499 - CONCRETE COLLAR - EACH	2.00	\$660.00	\$1,320.00	\$1,500.00	\$920.00	\$1,242.17	\$1,234.00
50723 - 3'X3' STORM SAS - EACH	14.00	\$3,810.00	\$53,340.00	\$4,600.00	\$4,340.00	\$11,230.00	\$6,195.00

CONTRACT NO. 8693

DATE: 12/14/23						Integrity	
DATE. 12/14/23			rground, Inc.	Parisi Construction, LLC	R. G. Huston Co., Inc.	Grading & Excavating, Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
50724 - 4'X4' STORM SAS - EACH	1.00	\$5,430.00	\$5,430.00	\$7,000.00	\$5,320.00	\$28,833.60	\$5,415.00
50768 - TERRACE INLET TYPE 3 - EACH	3.00	\$5,850.00	\$17,550.00	\$6,500.00	\$5,450.00	\$12,911.52	\$7,410.00
50792 - STORM TAP - EACH	6.00	\$970.00	\$5,820.00	\$1,500.00	\$1,685.00	\$4,726.67	\$1,000.00
50794 - PRIVATE STORM SEWER RECONNECT, TYPE 2 -							
EACH	10.00	\$1,898.00	\$18,980.00	\$1,500.00	\$2,045.00	\$1,181.67	\$1,120.00
50801 - UTILITY LINE OPENING (ULO) (UNDISTRIBUTED) -							
EACH	37.00	\$780.00	\$28,860.00	\$680.00	\$725.00	\$1,643.77	\$750.00
90031 - COVER BOX CASTING - EACH	2.00	\$4,038.00	\$8,076.00	\$4,000.00	\$2,435.00	\$193.30	\$5,500.00
90032 - MASTIC INLET REPAIR - EACH	8.00	\$430.00	\$3,440.00	\$960.00	\$1,150.00	\$546.93	\$1,622.00
90033 - RELOCATE WATER LATERAL SERVICE							
(UNDISTRIBUTED) - EACH	5.00	\$1,495.00	\$7,475.00	\$1,200.00	\$1,290.00	\$14,707.51	\$1,723.00
90034 - RELOCATE WATER 6-INCH MAIN (UNDISTRIBUTED) -		40 - 4 - 00	440.00=.00	4= 000 00	4= 400 00	*	40.0=0.00
EACH	3.00	\$3,545.00	\$10,635.00	\$5,000.00	\$5,160.00	\$10,508.36	\$6,250.00
90035 - RELOCATE 12-INCHWATER MAIN (UNDISTRIBUTED) -	0.00	# = 0=0 00	400 000 00	# 5 000 00	47.000.00	444 005 07	40.005.00
EACH	6.00	\$5,050.00	\$30,300.00	\$5,000.00	\$7,800.00	\$11,035.87	\$8,925.00
50722 - 6'X6' CATCHBASIN - EACH	1.00	\$13,500.00	\$13,500.00	\$13,200.00	\$16,600.00	\$43,248.03	\$12,265.00
90036 - WATER QUALITY TREATMENT SWALE - L.F.	320.00	\$10.90	\$3,488.00	\$9.80	\$43.00	\$17.53	\$17.65
90037 - WATER QUALITY TREATMENT SWALE FLUME - EACH 10914 - MOBILIZATION FOR SANTARY SEWER INSTALLATION		\$100.00	\$300.00	\$840.00	\$2,000.00	\$1,512.06	\$900.00
- L.S.	1.00	\$10,000.00	\$10,000.00	\$75,000.00	\$10,000.00	\$30,000.00	\$29,558.00
20311 - REMOVE SEWER ACCESS STRUCTURE - EACH	9.00	\$747.00	\$6,723.00	\$680.00	\$975.00	\$1,235.28	\$987.00
20331 - ABANDON SEWER ACCESS STRUCTURE - EACH	6.00	\$665.00	\$3,990.00	\$680.00	\$600.00	\$1,571.88	\$678.00
20335 - ABANDON SEWER PIPE WITH SLURRY - C.Y.	11.50	\$784.00	\$9,016.00	\$400.00	\$960.00	\$864.12	\$558.00
20336 - PIPE PLUG (SANITARY) (UNDISTRIBUTED) - EACH	10.00	\$150.00	\$1,500.00	\$160.00	\$645.00	\$720.00	\$250.00
20501 - ADJUST SEWER ACCESS STRUCTURE - EACH	5.00	\$580.00	\$2,900.00	\$500.00	\$430.00	\$917.83	\$2,225.00
50103 - RECONSTRUCT BENCH AND FLOWLINE(S) - EACH	4.00	\$850.00	\$3,400.00	\$1,300.00	\$1,175.00	\$1,240.87	\$1,150.00
50212 - SELECT BACKFILL SANITARY SEWER - T.F.	1841.00	\$0.01	\$18.41	\$0.01	\$0.01	\$0.01	\$0.01
50226 - UTILITY TRENCH PATCH TYPE III - T.F.	60.00	\$100.00	\$6,000.00	\$93.00	\$135.00	\$35.90	\$123.00
50301 - 8 INCH PVC SEWER PIPE (SDR 35, SDR 26) - L.F.	363.00	\$94.90	\$34,448.70	\$110.00	\$207.00	\$176.15	\$245.50
50302 - 10 INCH PVC SEWER PIPE (SDR35, SDR 26) - L.F.	880.00	\$113.00	\$99,440.00	\$115.00	\$174.00	\$184.86	\$254.00
50303 - 12 INCH PVC SEWER PIPE (SDR35, SDR 26) - L.F.	390.00	\$113.00	\$44,070.00	\$120.00	\$170.00	\$212.66	\$259.70
50353 - SANITARY SEWER LATERAL - L.F.	208.00	\$86.20	\$17,929.60	\$19.25	\$38.00	\$206.78	\$68.85
50356 - RECONNECT - EACH	6.00	\$3,200.00	\$19,200.00	\$4,300.00	\$4,450.00	\$4,832.17	\$3,731.00
50361 - WASTEWATER CONTROL - L.S.	1.00	\$500.00	\$500.00	\$500.00	\$870.00	\$1.00	\$12,000.00

CONTRACT NO. 8693

DATE: 12/14/23						Integrity	
DATE. 12/14/23			rground, Inc.	Parisi Construction, LLC	R. G. Huston Co., Inc.	Grading & Excavating, Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
50390 - SEWER ELECTRONIC MARKERS (SANITARY)(UNDISTRIBUTED) - EACH 50701 - 4' DIA SANITARY SAS - EACH 50791 - SANITARY SEWER TAP - EACH 10911 - MOBILIZATION - EACH 50801 - UTILITY LINE OPENING (ULO) - EACH	14.00 11.00 4.00 1.00 10.00	\$93.00 \$5,030.00 \$2,411.00 \$51,900.00 \$975.00	\$1,302.00 \$55,330.00 \$9,644.00 \$51,900.00 \$9,750.00	\$43.50 \$6,000.00 \$4,300.00 \$75,000.00 \$680.00	\$40.00 \$4,900.00 \$2,300.00 \$10,000.00 \$725.00	\$197.83 \$6,258.53 \$1,571.88 \$30,000.00 \$1,648.69	\$32.00 \$6,590.00 \$1,320.00 \$98,274.00 \$750.00
70001 - FURNISH AND INSTALL 4 INCH PIPE & FITTINGS - L.F.	20.00	\$136.00	\$2,720.00	\$180.00	\$176.00	\$232.85	\$111.00
70002 - FURNISH AND INSTALL 6 INCH PIPE & FITTINGS - L.F.	360.00	\$121.00	\$43,560.00	\$170.00	\$182.00	\$185.63	\$252.95
70003 - FURNISH AND INSTALL 8 INCH PIPE & FITTINGS - L.F. 70005 - FURNISH AND INSTALL 12 INCH PIPE & FITTINGS -	1200.00	\$107.00	\$128,400.00	\$120.00	\$158.00	\$267.27	\$241.15
L.F.	1220.00	\$136.00	\$165,920.00	\$150.00	\$175.00	\$224.50	\$291.90
70031 - FURNISH AND INSTALL 6-INCH WATER VALVE - EACH	8.00	\$2,594.00	\$20,752.00	\$3,500.00	\$2,310.00	\$1,944.37	\$2,733.00
70032 - FURNISH AND INSTALL 8-INCH WATER VALVE - EACH 70034 - FURNISH AND INSTALL 12-INCH WATER VALVE -	3.00	\$3,375.00	\$10,125.00	\$4,200.00	\$3,060.00	\$2,660.71	\$3,461.00
EACH	5.00	\$5,570.00	\$27,850.00	\$6,700.00	\$5,080.00	\$5,164.39	\$6,490.00
70040 - FURNISH, INSTALL AND SALVAGE HYDRANT - EACH	1.00	\$6,327.00	\$6,327.00	\$7,200.00	\$6,385.00	\$6,110.79	\$3,452.00
70041 - RELOCATE HYDRANT - EACH 70052 - FURNISH AND INSTALL 2 INCH SERVICE LATERALS -	2.00	\$1,387.00	\$2,774.00	\$2,600.00	\$1,450.00	\$3,627.29	\$2,062.00
EACH	1.00	\$10,700.00	\$10,700.00	\$7,400.00	\$16,700.00	\$11,416.57	\$16,520.00
70058 - RECONNECT 2-INCH SERVICE LATERAL - EACH 70080 - CUT-IN OR CONNECT TO EXISTING WATER SYSTEM -	3.00	\$6,700.00	\$20,100.00	\$8,300.00	\$9,600.00	\$2,493.86	\$9,622.00
EACH	14.00	\$3,000.00	\$42,000.00	\$2,600.00	\$1,970.00	\$5,114.39	\$3,975.00
70082 - CUT OFF EXISTING WATER MAIN - EACH	3.00	\$1,980.00	\$5,940.00	\$2,600.00	\$1,175.00	\$4,990.43	\$2,922.00
70090 - ABANDON WATER VALVE BOX - EACH	20.00	\$228.00	\$4,560.00	\$490.00	\$195.00	\$912.46	\$234.00
70101 - FURNISH AND INSTALL STYROFOAM - EACH	50.00	\$140.00	\$7,000.00	\$27.25	\$125.00	\$79.13	\$123.00
70104 - ADJUST WATER VALVE BOX - EACH	50.00	\$435.00	\$21,750.00	\$330.00	\$150.00	\$1,044.34	\$190.00
70106 - ROCK EXCAVATION - C.Y.	50.00	\$5.00	\$250.00	\$100.00	\$230.00	\$236.34	\$488.00
70111 - FURNISH & INSTALL ANODE - EACH	3.00	\$413.00	\$1,239.00	\$330.00	\$500.00	\$1,004.41	\$505.00
90020 - ABANDON & SALVAGE EX HYDRANT - EACH 60224 - FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40)	1.00	\$568.00	\$568.00	\$1,300.00	\$1,300.00	\$1,772.50	\$900.00
CONDUIT - EACH	28.00	\$7.53	\$210.84	\$7.60	\$7.53	\$7.45	\$7.45

CONTRACT NO. 8693

CONTRACT NO. 0093						lucto oruito c	
DATE: 12/14/23		S&L Unde	erground, Inc.	Parisi Construction, LLC	R. G. Huston Co., Inc.	Integrity Grading & Excavating, Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
60230 - FURNISH & INSTALL 2 INCH PVC (SCHEDULE 80) CONDUIT - EACH	351.00	\$6.72	\$2,358.72	\$6.80	\$6.72	\$6.65	\$6.65
60232 - FURNISH & INSTALL 2 INCH PVC (SCHEDULE 40) CONDUIT - EACH	1197.00	\$5.00	\$5,985.00	\$5.00	\$5.00	\$4.95	\$4.95
60241 - GOPHER RACEWAY FOR ELECTRICAL CONDUIT OR CABLE-IN-DUCT - L.F.	130.00	\$46.46	\$6,039.80	\$46.75	\$46.46	\$46.00	\$46.00
60253 - FURNISH & INSTALL 3 #4 AND 1 #8 WIRES IN EXISTING OR CONTRACTOR INSTALLED CONDUIT - EACH	2032.00	\$10.81	\$21,965.92	\$11.00	\$10.81	\$10.70	\$10.70
60415 - CONSTRUCT LB-3R BASE - EACH 60416 - CONSTRUCT LB-8R BASE - EACH	10.00 1.00	\$1,136.36 \$1,308.08	\$11,363.60 \$1,308.08	\$1,100.00 \$1,300.00	\$1,136.36 \$1,308.08	\$1,125.00 \$1,395.00	\$1,125.00 \$1,295.00
60427 - REMOVE ELECTRICAL HANDHOLE - EACH 60261 - ELECTRICAL TRENCH - EACH	1.00 1431.00	\$328.28 \$7.58	\$328.28 \$10,846.98	\$330.00 \$7.60	\$328.28 \$7.58	\$325.00 \$7.50	\$325.00 \$7.50
60702 - CONSTRUCT ELECTRICAL HANDHOLE TYPE 1 - EACH		\$1,393.94	\$5,575.76	\$1,400.00	\$1,393.94	\$1,380.00	\$1,380.00
OTTO CONCINCOT ELECTRICAL TWINDHOLE THE FEATURE	4.00	ψ1,000.04	ψ5,575.76	ψ1,400.00	ψ1,000.04	ψ1,000.00	Ψ1,000.00
60706 - CONSTRUCT ELECTRICAL HANDHOLE TYPE 5 - EACH 60222 - FURNISH & INSTALL 3 INCH PVC (SCHEDULE 80)	2.00	\$1,742.43	\$3,484.86	\$1,800.00	\$1,742.43	\$1,725.00	\$1,725.00
CONDUIT - L.F 60224 - FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40)	410.00	\$10.66	\$4,370.60	\$10.75	\$10.66	\$10.55	\$10.55
CONDUIT - EACH 60230 - FURNISH & INSTALL 2 INCH PVC (SCHEDULE 80)	474.00	\$7.53	\$3,569.22	\$7.60	\$7.53	\$7.45	\$7.45
CONDUIT - EACH 60232 - FURNISH & INSTALL 2 INCH PVC (SCHEDULE 40)	208.00	\$6.72	\$1,397.76	\$6.80	\$6.72	\$6.65	\$6.65
CONDUIT - EACH 60241 - GOPHER RACEWAY FOR ELECTRICAL CONDUIT OR	437.00	\$5.00	\$2,185.00	\$5.00	\$5.00	\$4.95	\$4.95
CABLE-IN-DUCT - L.F.	268.00	\$46.46	\$12,451.28	\$46.75	\$46.46	\$46.00	\$46.00
60413 - CONSTRUCT TYPE P BASE - EACH	1.00	\$934.34	\$934.34	\$940.00	\$934.34	\$925.00	\$925.00
60415 - CONSTRUCT LB-3R BASE - EACH 60416 - CONSTRUCT LB-8R BASE - EACH	1.00 1.00	\$1,136.36 \$1,308.08	\$1,136.36 \$1,308.08	\$1,100.00 \$1,300.00	\$1,136.36 \$1,308.08	\$1,125.00 \$1,295.00	\$1,125.00 \$1,295.00
60417 - CONSTRUCT TYPE GR BASE - EACH	10.00	\$934.34	\$9,343.40	\$940.00	\$934.34	\$925.00	\$925.00
60423 - REMOVE TRAFFIC SIGNAL BASE - EACH 60425 - REMOVE TRAFFIC SIGNAL OR STREETLIGHT	14.00	\$100.00	\$1,400.00	\$680.00	\$440.00	\$522.37	\$567.00
CABINET - EACH	1.00	\$1,176.77	\$1,176.77	\$1,200.00	\$1,176.77	\$1,165.00	\$1,165.00
60261 - ELECTRICAL TRENCH - EACH 60263 - FURNISH & INSTALL TRAFFIC SIGNAL CABLE 5-14	227.00	\$7.58	\$1,720.66	\$7.60	\$7.58	\$7.50	\$7.50
AWG - L.F.	720.00	\$1.92	\$1,382.40	\$1.90	\$1.92	\$1.90	\$1.90

CONTRACT NO. 8693

DATE: 12/14/23		S&L Underground, Inc.		Parisi Construction, LLC	R. G. Huston Co., Inc.	Integrity Grading & Excavating, Inc.	Speedway Sand & Gravel, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
60265 - FURNISH & INSTALL TRAFFIC SIGNAL CABLE 7-14							
AWG - L.F.	325.00	\$2.42	\$786.50	\$2.40	\$2.42	\$2.40	\$2.40
60269 - FURNISH & INSTALL TRAFFIC SIGNAL CABLE 12-14							
AWG - L.F.	200.00	\$3.28	\$656.00	\$3.30	\$3.28	\$3.25	\$3.25
60280 - LOOP DETECTOR LEAD IN WIRE - L.F.	945.00	\$1.36	\$1,285.20	\$1.40	\$1.36	\$1.35	\$1.35
60702 - CONSTRUCT ELECTRICAL HANDHOLE TYPE 1 - EACH	8.00	\$1,393.94	\$11,151.52	\$1,400.00	\$1,393.94	\$1,380.00	\$1,380.00
60704 - CONSTRUCT ELECTRICAL HANDHOLE TYPE 3 - EACH	2.00	\$752.53	\$1,505.06	\$760.00	\$752.53	\$745.00	\$745.00
60706 - CONSTRUCT ELECTRICAL HANDHOLE TYPE 5 - EACH	2.00	\$1,742.43	\$3,484.86	\$1,800.00	\$1,742.43	\$1,725.00	\$1,725.00
60292 - FURNISH & INSTALL FIBER OPTIC CABLE 24-COUNT -		¥ 1,1 1=112	40,10110	* 1,00000	+ ·,· ·=···	+ -,- =	* 1,1 = 2122
L.F.	450.00	\$2.42	\$1,089.00	\$2.40	\$2.42	\$2.40	\$2.40
90007 - FURNISH & INSTALL LOOP DETECTORS - L.F.	1392.00	\$1.31	\$1,823.52	\$1.30	\$1.31	\$1.30	\$1.30
90008 - FURNISH & INSTALL TRAFFIC SIGNAL NEUTRAL #10			• •				
AWG WIRE - L.F.	1515.00	\$1.16	\$1,757.40	\$1.20	\$1.16	\$1.15	\$1.15
180 Items	Totals		\$4,410,674.23	\$4,749,215.72	\$4,927,600.00	\$6,148,977.75	\$6,341,309.65